Today, I want you to get really good at using the grid method so
we're going to reinforce our learning from yesterday by doing a few
more multiplication calculations using the grid method.

Remember how this worked from yesterday:
26 x 3 =

Using the grid method to help us work it out (we split the tens and
the units):

Tens Units
X 20 6
3
So first, work out 20 x 3 = 60
and then work out 6 x 3 = 18
X 20 6
3 60 18

But then we combine the answers.
60+18 =78
So0,26x3=78

In your home learning books, write out the calculations and then use
the grid method to work out the answers to these multiplication
calculations:



Using the grid method

R L

24 X 5= []
32 X 4=1[]
5 X 15=[]
3 x23=01
26 X 4 =[]
5 X 18 =[]
5 X 32=01
32 X 3=01
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11.
12.
13.
14,

15.
16.

17 X 4=[]
8 X 14 =[]
4 X 36=_L]
16 X 8=
8 x 27 =11
4 X 28=1[1
26 X 3=[1
35 X 5=[]



